Name: Keus Algebra II — Semester Test  12/15/2016
1) What is the dbmain and range of the followin graphs?

| a) p:(-=*) b) D f- 3]
@ LuEap - R:[o,”) R: L&, <7

r

. 2) Find the equivalent sets for the following:

@a)[2,3,4,5}n{2,4,6,8} £2,43  lo34502468 £2,3 45 ¢3

3) Simplify the following expressions. Leave your answers in exponent form with positive

- exponents. s & ot
@ a) o 2L | b) (4303 xx2)6 ExEhy 18
ox*y ¢ % 4
5, 4) Shade in the following Venn diagrams for the names given.
@a)A’nB b) A’ N B’
@ 5) Solve, graph, and write your answer in interval notation for following inequality
a)544b—-3k9 gy <12 |b)x +2<-20Rx—~2>2 G~ Bisrrn
+3 £3 [+ 3 j; Wy ~—2 -2 X 29 -4 oy
2. 3. 6) Sinplify each polynomial expression. X4 o
@ ) 3x® — 18x* + 5 + 7x® — 4x? — 9x* | b) (=22 +x2y -y + (4297 + 22 ¥ xy)
. 7) Classify the following polynomials by their degree and number of terms.
@) a)x? + 3x | by )2t
. 8) Find the domain of the following functions:
- _ x+8 . o b — 3 + 4
%a)f(x)—?x_mtm X )0 =x
] 9) Ratlctn;hzefsmpllfy the following radicals. 8 m
211 —
@ a) J;"B '3L v 3 )W.X.x.)(

10) Put the following polynomials in standard form and identify the leading coefficient.

77y a) 9x7 + 3x* — 8x° | b) 6x2 — x3 + 85 — 3x* + 2x10
11) Solve, graph, and write your answer in interval notation for the following inequalities.
@) a) —2(7x + 15) < 14 | b) —2x 49— 10 = 3(9x + 16)
’ .-..i'£"><_3oi Y - _ Ay~] D X7 o ;
to |50 X 73.49 WL Z W+ Y g
T 1 H Ry v V23
IO D

g T - ; -39 :
T 122Gy xell

—5.4 2 29



12) Solve, graph, and write your answer in interval notation for the following inequalities. Be
@ sure to show all your work!!! Leave your answers in the simplest fraction form. :
a) —(6x+6)=5>1—6x . | b) =1 + 5x < 3x +2x P
—bx~6-5"21 -LX (21 ~Sx =S¥ T
. 13) Simplify the following radicals. : % e 3
G opmm Xy e 0TV
PRSP D 15 R
14) Identify the independent and dependent variables in thelt'"ollowing scenarios.
~. a) The more questions I put on a test, the more problems you get wrong.
'1 b) Your IQ goes up as you take more classes.
¢) There are fewer seats to sit in as students come te class.
d) As the cold weather settles in ND, the more animals go into hibernation. 2
X" T7x +2

@1 5) Multiply the following polynomials. X m 6x
2 _ -2
a) (2x + 4)(x% = 7x + 3) | b) (x - 3) T3 28]

16) Fill in the missing information.
Function Notation Name Graph

fx) = x?

. 17) Write the following in words. Do NOT solve it.
@ a)6—--§>4 b7—-x<8

18) a) With radicals, we do not want a in the

want a in the .
@ b) In the radical ¥ L4isthe . Wesayitisa for deal.

c¢) With a power to a power, you the exponents. (ex. (x2)%)

d) When multiplying with the same , you keep the base and the

, and we do not

19) 1 pay $10/month for AmazonPrime. I also rent movies from Amazon that cost $3.99 for a

month’s rental of the movie.
@ a) Write an equation that represents how much 1 will be charged each month by Amazon.
b) How much do 1 get charged for renting 5 movies in one month?

20) Solve the following inequalities, graph your answer, and write it in interval notation:

13x-8] =4

N

©OX A

- -$2Y4  -3HE 24 W
3){?—‘)\ "?){Z'L}

4
XZY  OR Xx%3
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Name: ke v
Algebra I - Test 4
1/31/2017

1) Given the following functions: 1) Identify the parent function and II} Describe the
transformations done to the parent function.

a) fx) =(x+3)-2 b) f(x) = —VZ2x + 1
@ D Cupic I) Sqceace oot
) fefd 3 ) Aomn ) reflechis acvss X-ars,

b} 2entul Lompressilng g /.

2) Find the GCF of each pfir ot; mimbers. jg= 23 24
a) Bx 2,42y AR b) —18x°, 16x® o= 27 x¥
B
)36yt 30°y* 3c =023 x| )35y ASYT seme gy
G x-} v 3O = 235w 45 375 Sy

: P
_3) What does it mean to factor something?
4) Given the following information, find the equation of the line in slope-intercept form.

2 Ly e £ 37 “ /5"4’-0/ qe 't
~\ a) Slope: 2, y-intercept: -8 = Yy b) Slope: 2, Passes through: (5,6) /. .
@) Doyt =y |V OO0 (yeaey

c) Passes through: (2, —3)&(6,9) il@’ o~ Q(}“) + b
3300 H = b=
L=-9 P BX‘_? 1 /
5) Describe the following general transformations.
) fx=8) St Y O > f)—a e 4
Q b) f{x) = f(4x) z'lﬁ"-*‘c‘,lﬂnf-q/ (:omf’f'ﬂsff'&,q e) flx) = f—x) e 'F/]:"C Flea aCoss
by 4 ’ Yaxs
¢) f(x) = 4f (x) B flx) - —f(x)

/-\d- -Pfif C'{“! bt ‘?01535

Vertef  Setth J’y Y X —ay,y

6) What is the prime factorization of the following numbers?

@ )60 = 233 b)63 =335

)28 =327 ‘d)49 =7A




7) a) Write a quadratic equation to represent the following graph

of a parabola, >0 = y x| J\M;
b) Label the vertex (b) —P ( ) ; ( )

[{' }  ¢) Label the zeros (c)
d) Label the y-intercept (d)

8) Graph the following functions.

a) f(x) = 3|x + 4| NI

b) F() = 2 maw

9) a) Write a quadratic equation to represent the following graph  : : .

of a parabola. A= »)
b) Label the vertex (b} P(x) CX H ) +3

¢} Label the zeros (c)

@ d) Label the y-intercept (d)

10} List the 6 parent functions by name AND function notation.

Constant «p(x) =

SRS H=x,
(RPN
4 P(=x

Culpe
abfﬁ{ ute. Vg, -p G‘) = ’ X l
Square.  fort £ox) = JX.




Name: Kev, 2/22/2017 Algebra I — Test 5
[ 4

1} Factor the following polynomials.
a)x? +16x+28 (X +if)x+d) b)x? +3x =10 (X +5)(x~2)

ey x%—7x+12 (X’E)(X-‘f) ' d)x2+11x+10(/¥+b)(¥}_))

2) Fill in the blanks for the steps to factor things completely

a) 6CH

~Watching to make sure the first term is positive
b} (5 '

-1f more than Lf terms.
&) GC—mefhod wrth t7 aad O

-if a trinomial
d) Binomial N 7

-Check for o/ﬂ [ of (special case)

3) What does it mean to factor something?
tvrite  as o ,ﬂ-@ﬁézc,\! .

4} Factor each polynomial by grouping.

aX10x® — 16x2}+ 25x — 40 b) x% — 4x — 16 + 4x”
2x($x-8) 3 $(5r%) X(O2) ry (xR
(S“X*S’ (X + ) (kx> y) Ok

(x#4)(c-2)(X+2) ¥

5) What is the prime factorization of the following numbers?

0164 b) 205 &) 121 48
/ \ N\
N €A g1 o &
s &
> ! (E“w; (ﬂi/ X3z
N1

A



3¢
24
~3¢,1

b Sy

Exod] -3
il (-5

6) Factor the following polynomials completely.
a) 4x3y — 4x%y — 8xy b) 2x(25x° — 36)

iy (- x =3 X(SXHE)(Sx7H)
iy (x> (671

7) Factor the following polynomials completely.

a)x:2—16 . b) 25x% + 20x + 4
s + - 2
x ”)(3’" A (Sx+2)
(x?-2) (xe2)(X*+1)
8) Factor the following polynomials completely. -
a)6x2—29x—5 by —3x% —x +2
é» S éxt ~(3x*+x+2) ’ 2 Y !
- xt1 : ~A.
) T 3 Ty
(x{'})(g)f“').) ,.._1 _2‘, 7“2
9) The area of a rectangle is (3x? — 4x — 15)in?.
a) What are the width and length of the rectangle in terms of x?
b) What is the expression of the perimeter? -
X -3 ~y
a) L =3¢+35 o] ~y
W= . e -
. 5| 43 f S
L)@ _‘
H

X-3F3x#45 +x-3 13y t8



Name: Ke;/ _ ' 3/30/2017 Algebra Il — Test 6

1) Solve the following quadratics by factoring. )
a)2x?—3x+1=0 a byx? —13x+22=0 -3 -

Geoere ™" B VIR %
':g‘%)f ~i - X=il) 2,

2) You have used all five ways of solving a quadratic equation. Name all five of the ways AND state what they
are useful for. (OR, when would you chose to use one over another?)

] : 3) Spuare et Sy
g )ém&%‘ww& ) ff_mfg Fesk . _ 57 &9"“"{2 el
2 )‘)'QZ -‘C,:, 'p > s : .‘.-f) fq’yy é’“"/&.’-{.\
=iy 1) (ompletty +he Spuace
D Persiveyf . /
2eitles € vty e

3) The f(x) function can model the distance a projectile is from the ground where fis measure in feet and x is
in seconds. f(x) = —16x? + 45x + 200.
a} What does a; being negative mean? (Why is it negative?) Growi'hy ,mi/a;, P q"w,«;,
= b) What does v, being positive mean? (Why is it positive?) 4.t wp.
C(ﬁ/‘ c) What is the velocity of the projectile? H$Fbke ¢, 1 g5
d) What height is the projectile launched from? )\aaffw'-. o J—lﬁ
e) How long after being launched until the projectile hits the ground? sk g Y1) (20

E s 25&% *‘%LQ 20%).

~ 4) Use the discriminant to determine how many and what kind of solutions you would get for the following.

@ vo=tas @ x-z Cloxs25—0 Discriminant Number/type of solutions
o G U feal seta,
A 20 2 frggie,
-)z) O ¥ i 1 & Real soln,
b=y

5) Using ax? + bx + ¢ = 0, then

@ '-ﬂb * v j)l—'{(z(;‘

6) Solve the following quadratics using square roots.
a) x2 =36 N

b2 —-196=0 xzfy
@fc) x24+49=0 R 2 imay,

dyx*+4=24 JX”;‘/E /w;‘/




7} For each of the following quadratics, find the vertex, the axis of symmetry, the y-intercept, the zeros, the
domain and range, how it opens.
Functions Graph Axis of Vertex | Zeros Domain and | y-intercept

C-/ opens symmetry Range
@ ) ayy=x"-10x+9 | 2 S (44¢) | 0 () )
P . }ﬁ% C A ) C"f’) 0) H:. [_&)60) ( i )

8) Use the information provided to write the standard form of a circle AND identify the center and radius.

a) 8x + x2 — 12y — 30 + y? =2%_1 b) Center: (—5,1); Radius: 10
e : +
& " e e A (x65)*+ (y=1) 2o

(x+4) + (y=¢) "= 103.
c(-44) rafes

9) Our schools revenue can be modeled by the equation C(t) = 0.75t2 + 10t + 200. Where { represents the
number of students here. The weekly cost of running our school is modeled by: C(t) = 80t 4+ 700. How many

students must our school have to break even (when revenue equals the cosis)? J___é_yL
g L W7SWR g R0 = §UAVTO. 20+ J 02yl 7o) Gvay

&

Z L IsRS ~W4 —Svo =0, wtse ., »757)
C’) s U Sadys |

10) Solve the following quadratics usin“'%y method. Leave your answers in the simplest radical foml,é
a)x’+2x+9=0 - J'—‘E:E’\ b)3x?—11x—4=0 4/\
: 2 6
2_90 =0 — 2
c)xc—20=10 d)2x =3+ 2x i I3 N

q_-—"’-_“_.__-.‘l

(i

o
o -5
|

I .
X=2 AN =NXAZ =0




Name: 4/28/2017 Algebra I1 — Test 7
1) Multiply the following complex numbers. - 3 /
ay (1+20(3i-5) _, b) 3i35(4i + 6)

3075 + §A—107 :fﬂ —7¢ / i rg)
-2 .

2)
I Figy B
Using the triangle on the right and the values given, find alf the mmissing ¢
sides and angles. in the following chart. g a
s.alfe) = €
L= 0
b
Given: 8 £ a b c o : .

a) 60° 200 8 4.6 9.2 (%)= 4,

DINZE 20° T 4 .7 <

o 30° Co” 10 17,3 20 ol

S 3o -

3) What are the definitions of the following trigonometric functions
sin(8) = oprlhyp
cos(8) = «el;/yp
tan(8) = ogr/ ad)
CSC(Q) = ;‘l‘y/?/g}fﬂ‘go
sec(0) = hyyp jad;
cot(8) = ad; /efP.

4) Each of the trig functions given above are abbreviations. What do each of the abbreviations stand for?

Siae, (osine, Fangeat, lesecant;  Secant, Co-#qn?m&-,

~{g
— 3L by b7
5) Solve the following quadratics. o + ’1{2 o -4 }él/__ ™
a) x2 — 2x +10 = 0 A S R Nl

46; . 2 ‘e
e e 3 / ~g4Y,;
6) Simplify and write your answer in the form a + bi. o 2
a) {0 — {21 | b) 1?2 — i35 _

~i =0 S iy

7} State the conjugate of each of the following complex numbers.
a) —5i + 21 | b) 5 + 4i



8) Solve the following quadratics using square roots.

a)x? = —64
X=£5;

9)

b)x?+196 =10

~+ 1Y,

)x2+9=0
X=43;

Using the triangle on the right and the values given, find all the missing
sides and angles. in the following chart.

8
b
Given: f i] a b c
A _S3.1° | 34.9 a 3 -
bl 36.99 | 52.i° A 8 10
10) Draw the following angles. Then find their reference angles.
a) —30° b) 123° I ,4
RA. 30 30
—670° d) 225°
c) _é%ffrom )
KA yse
Ve
11) Find each angle and all co-terminal angles.
a) sin{#) = .25 b) cos(#) = .25
Q= 9.5 ¢ ¥on Q@ =755° +30n -
_ S
165, 5% +3¢0n ABY 5430
¢)tan(@) =1 ‘ d) cos(8) = —.454
Q=45 30, ug* Q@ =17t30
Lz .
22 Sk 360 R34 300, “




Name: tt‘f v

1/13/2017 *

Algebra I Quiz 13714

1) What are m and b in the slope-intercept form of a line?

R A — 14
L_) S(PL) -m*}yﬂ/ e

fZad
2) Given the following information, find the equation of the line in slope-intercept form.
a) Slope: —3, y-intercept: 4 b} Slope: 2, Passes through: (2, 1)
Y=o 4 [= X(>) +b YEadx -3,
3) Fill i the missing information. b3
Function Notation Name Graph
EENEEEED
fix)=x ( wbile T // =
"
VA NR R
(,(} = //y/ Absolute Value -
4)
D (x) = f(x+3) A) Reflection across x-axis
= f(x) = fF(x)+3 B) Reflection across y-axis
E{(x) - —f(x) C) Right 3
D) Left 3
E)Up3
F)Down 3
5) Match the following forms with their definitions
. W2 A. form used by employees to inform employers of exemptions
W-4 B. form used to report income to the state
' 1040 C. form used by employers to report income paid to an employee
g ND-1 D. form used to report income to the IRS

6) What does IRS stand for?

Interral  fevenve Servic e



Name: t.-ff\/
1/20/2017 7

Algebra 11 Quiz &7 ¢
1) Given the following information, find the equation of the line in slope-intercept form. ),:‘l(j(.-)) +/
a) Slope: —3, y-intercept: 4 _ b) Slope: 2, Passes through: (2, 1)

=35 4 y=2x -3

2) Match the following general transformations with their descriptions.

p f(x) - flx+3) A) Reflection across x-axis
- (x) = f(3x) B) Reflection across y-axis
O f(x) - 3f(x) C) Right 3
B @) f)+3 D) Left 3
A fx) - ~f(x) E)Up3
_B fx) - f(—x) F) Down 3

G) Vertical Stretch by 3

H) Vertical Compression by %
I) Horizontal Stretch by 3

1) Horizontal Compression by %

3) Given the following lines perform the following consecutive transformations. Simplify each time.

f)=x+2 = f(x+2) = fl)-1 - 3f(x) - —f(x

A +2) +2, b) x 3 ) 3(x+3) D —2x-q
X+Y I+’
4) Graph the following lines and their - 7e0 WA i
transformations on the same graph. A\ i KPA S| FL AN
' g N Z7
ayy=—2x+3 ‘ kN ) | i
-Down 4, Reflect across x-axis XX +| = ‘p(x’) 2 q a ffl‘
byy=x-—1 \*?J \ D/ ¥
-Reflect y-axis, Vertical Stretch by 2 " R \'T
fO) oyt e Ax e
‘-“"2 — epy v .. . . 'S \\I‘ //"‘\r\
5) Fill in the missing information. }F/’ ™ N
/] // A‘J P
NAZW R A
[l Vi
[ ’
[
Function Notation Name ___Graph
nE=>
: W
{: (;() =V A Square Root




Name: K@'/

12712017 [/

Algebra Il Quiz 16

1) Given the following functions: I) Identify the parent function and I1) Describe the transformations
done to the parent function.

a) f(x) = (x —2)%+3 by f(x) = —|x + 4]
I) i U.a.cl/'& !"\(‘_ I) hseiwlfe.  pwheo
1)) rc‘?hi— Py 15} et alvpss X ~a :r.‘; =i | &
wp 3
2) Write the prime factorization of each number.
a) 18 33> |b)150 .35 2
3) Find the GCF of each pair of numbers.
2 . — Ayt 2
a) 8x2,110 (‘Qj | by —64x*, 24x -

4) What does it mean to factor something?

e as o« jﬂ’r’f’i"'cﬁ-

5) Graph the following functions.

a) f(x} = 2(x - 1)?

by £(x) = V5 + 3 RERAENPY REDS T




Name: té/;/

2/92017 7

Algebra Il Quiz 17

1) Factor the following pelynomials.

a)x? + 16x + 28 CX"""}‘)(XH(” | b) x2 4+ 3x ~ 10 @( #57(1\,_-&)

2 ial.
) Factor each pozlynomml | . ) Y
W =15x—10x2  _ &y (oy +3) [B)33x° +220° +11x sy [ 3xF 2y +1)

3) Factor each polynomial by grouping. .
a{/x3 + 3x27+(5x + 15) )f*(xﬁ) " 5"‘(,\"}3) } b(Zx3 - xz)zl 3+ 6x)
" | @H} (rhes) XA x~1)+300x-1) = @X'~J/’(}\’ 9-%3)
4} Sect 7.3 HW. Factor the following polynomials. '

a) x% + 12x + 11 | b) x2 — 10x ~ 24

(x+u)(xcr) (r-m)(xi)
5) Sect 7.4 HW. Factor the following polynomials.
a) 6x2 + 11x + 4 | b) —3x2 + 16x — 16
S, L
3x 1 | {3x1ex i)
2Y
X M X / »
4
T Y e
12 -
(Amﬁ@wﬁv 2 3
e E/ g /
b ¥

-3, Y



Name: _be/:,f 2/17/2017 Algebra 1l Quiz 18

1} Fill in the blanks for the steps to factor things completely

a) GCE
-Watching to make sure the first term is positive
b) Lrouging |
dfmorethan 1 terms.
¢) 7 o
-if a trinomial
d) Binomial PPt 7
-Check for Qg:"éé I (special case)

2) Sect 7.5 HW Factor the following polynomials.

a) 25y2 — 16x2 [b)4x? —dx +1
Er ~t)(sy i) (=)~

3) Sect 7.6 HW Factor each polynomial. | )/ “i )

a) 4x® - 30x° + 36x* DY/ X-L byxy*—16x  X(/ "

W q(}xlml o +18) @)" 3)( ) Xy Yy +y)
Xy =20ty *+ y)

4) Sect 7.6 HW. Factor the following polynomials completely ‘

a) 12(x + 1)% + 60(x + 1) + 75 | b) 45x(x — 2)? + 60x(x — 2) + 20x

5) The area of a rectangle is 3x? — 4x — 15)in%. What are the widih and length of the rectangle in

terms of x?

—32 -k
4a) 3 [4y*+ 20y £dS) 1)) ox(ay” :""‘V +i)
3[) -,Ls)l JW(B}HQ)
Y Sx(3( x-2) +_l)



Name: [(~e/¢/ 3/3/2017 Algebra Il Quiz 19

1) Order the following functions from widest to narrowest.
1 1
flx) = Exz +3  h(x) = ——gxz glx) =8x%2 -2 R(x) = —2x? Q(x) = x?

hiv), £69), Q(x), Klx) 9(x) 1
2) A basic formula used to model a projectile’s height is given as: h = > % t? + vyt + hy. What do each
of the coefficients/constant represent?

Qo 5o H Vo ) ho L
ﬂﬂ%tgéfmhbﬂ irntfkag Lz {ﬁ‘:,’é, 2 TN WY /
b) How would you say “v,” /'h:«},;.,g_-
V' oAb

3) A fireworks shell is fired from a mortar. The function models its height:

f(x) = —16x? — 224x, where x is the time in seconds and fis the height in feet.

Using a graphing device:

a) The shell is supposed to explode at its maxinum height. What height should it explode at? &7 .C’,A.
b) If the shell is a dud, how long will it take to return to the ground? {YSC&_

>\4) For each of the following quadratics, find the vertex, the axis of symmetry, the y-intercept, the zeros,
@) the domain and range, how it opens.

-~ | Functions Graph | Axis of Vertex | Zeros | Domainand | y-intercept
opens | symmetry Range

- ) (@) | 9622 | (o
a)y = x¥x2—-10x+9 M/ X’ s CS} .“’) gff&‘}) EF—LGJ 00) }

- -:-00,»00)
by=-xt+6x-8 [down|x=3 | (31) c(;}i)J g,\((ﬂﬂ (2,9,

o & & & & &

2 55T +4
~lf,

>3 =% —quss
{



Name: ﬁ&/ 3/10/2017 Algebra Il Quiz 20

1) Solve the fogowing quadratics hy factoring. (X 4.3) (X'%S’;) =6
a)2x2—l3x+120 M b) x?+8x+15=0 vy g
(QX*I)(X—I)’:O X=372-
2) A basic formula used to model a projectile’s height is given as: h = %aotz + vyt + hy. What do each
of the coefficients/constant represent?

. LI . .
Y fackal  acteleti, Vo bl o kst e ik
b} How would you say “hy” velocs ﬁ’
“hoonet
3) The f(x) function can model the distance a projectile is from the ground where fis measure in feet
and x is in seconds. f{x) = —16x? + 45x + 200.
Apirar

a) What does a, being negative mean? (Why is it negative?) ;/"‘L;v

b) What does v, being positive mean? (Why is it positive?) 34+ af.

c) What is the initial velocity of the projectile? §&™£4/se ¢

d) What height is the projectile launched from?  Qoe-Fi,

¢) How long after being launched until the projectile hits the ground? €7 ) ger |

4) For each of the following quadratics, find the vertex, the axis of symmetry, the y-intercept, the zeros,
the domain and range, how it opens.

Functions 1 Graph | Axis of Vertex |Min/ | Zeros | Domainand | y-intercept
opens | symmetry max Range
: - (;‘mf(’w)
- , . a,-~
a)y=—x>+4x—4 dewa| K= 2 (9] | e C)yo) ﬁ.‘["oﬂ_,aj (4 V/

by =x*—4x-12 |y Xz (2')#.“’) min (bo) | O o) (¢ -12)

(,0) | Rk,
(x—£)(x+2)

Qe

g -1
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1) 2) Solve the following quadratics using square roots.
ak}x2 E69 b)x* - 625=0 ) x2+25=0

. $625° 2
=T l Yo ’ 5 i
==b J(’%';E%z e
2) Solve the following quadratic by completirig the square.
x:+6x=16
X ¥ox = _1_ =16 v T X4z=2 S
CX‘F})D‘ = 25 X == i el

3) The height of a rocket in meters is approximated by h = —5¢2 + 60t, where h is the height in meters
and ! is the time in seconds. c.

a) How long after being launched until the rocket hits t}{e‘lgrgu d?
b) How fast is the rocket travelling? *Be careful of your units

¢} What is the highest it will reach? .-5-(6) +60(L) =
d) How long until it reaches its highe (€)(18 (2

é See

O =-53 2HboL
= =SH(-12)
A0 12,

4) Solve each quadratic by factoring.
a)x?—2x—-8=0 b) 4x% — 9x = —2
+2

(x~4)(xw2) =6 =

T gy k2 =0
CEY R
(Ye-)(x-2)=0 f/

)
X224y ~1 ~%
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1) Solve the following equations using the quadratic formula. Leave your answers in simplest radical
form. (not decimatl!) 2 6
a)x?=2x+9 X223 =p W0 lb)0=2x2—x-21 e
-2 9 q¥) LEV =90 > w
e SaAG . y

L= - 'ftv'}_(-{; . c a2l """‘mﬂ: i3 = o]

2) Use the discriminant to determine how many and what kind of solutions you would get forthe /-
following. x, 5
-3 —2x=1  §=-3 |plx2yx-_3-0 |0 8x +27 = ~16
-t R 2 HE g

iopen eI 84~ 4((1)
¥ o[ imagiey] 7 = ey ] 6 = | Keal

3) You have used all five ways of solving a quadratic equation. Name all five of the ways AND state
what they are useful for. (OR, when would you chose to use one over another?)

0 6)“}3 f.,\7’ ..} ’a/‘,\mﬂfw‘fﬂ:_, *{) Com}a/-,: f—,! -f’k-e, S;‘Z e
. =% e, N
;).) 'FW.C'}‘wll‘/y - '&SHS% ? VeStex £ o trefey

m
3) ¥ =) T Slesd ‘S) f&f%,l,‘( '{%fm/a
3 balld,
4) Use the information provided to write the standard form of a circle AND identify the center and

radius. +
a) 6x + x% — 10y = 30 —y? | b)x2 + y2 —22x + 18y + 102 =0 402
e

! ;L-}‘l i t2 # 1 g -!",,3_2_ :""'[{_.11
xl%x-;._f__-;yi.é 25 =gt AT X x ¢ Lty 'y

_ AP N
@«H)fl + [y-s-)l_: Cyv @'(_3/57 /:J Q" f’) 4-. )

5) Use the information provided to write the standard form of a circle AND identify

radius. "
a) Center: (13, —2);Diameter: 16 by(x +3)2+(y—-2)2=20
g Translated 3 uvnits right and 7 units down

A2 G265
ey + [y =64 () (y#5)" =20

6) Put the following equations in vertex form and identify the vertex.
a)y=x%412x - 17 | b)y = x? + 14x

X4 b4 3k 1738 y= X"Hix +47 -4
y= @-f@ﬁ._g‘; y = (x £7)
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1) Solve the following quadratics using square roots.
a) x* = —169 b)x*+625=0

%_:_1‘1;,_‘ :::":;15"5

Algebra Il Quiz 24

)x2+25=0

X= i S“(,

2) Find the values of x and y that make each equation tmf__;i _ =
a)S(x—l)@ﬂ—zo |bx+m 3=y
She="26 .

|b)-1%-6

By==IsT
5;?_517 X~t=-y
3) State the conjugate of each of the following complex numbers.
a) —2.5i+1 '
P #2.5¢

4) Solve the following quadratics using square roots.
a)x?—10x+26=0

~Y
[0+ ) (0o—Y (L) (1)
2

fo 8

B
“T

b)x% — 10x + 37 = 0
—4&

(C£ ) 120~y (37)( )
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[#]
2%
~

1) Multiply the following complex numbers.

) (2- D3 - 4:) .:,.*; | by 279(8i - 9)

) ~&p -3, 2.(%-1

2) Find the values of x and y that make each equation true.

a) 5(x + 3) + 5yi = —15{ — 20 | by x + 5xi = 2 + yi
Sy=-pr  5(x3)=-20 S“)r,,y o]
y =3 2 XH3=—Y X
X=~7/
3) State the conjugate of each of the following complex numbers.
a) 5i — 21 | b) 5 — 4i
Q)-8 SH
‘ pA
4) Solve the following quadratics. [ 2 »
2 _ - 2 - S VR
a)x*—10x+30=10 Do 3y =i by2x‘+6x+9=0 26 y(”l)(fy
0E Jioe~y (1) e
—r 7
2 o £2,/5 T~ oy
ol 7 g?'“t pj‘* G
5) Slmpllfy and write your answer in the form a + bi. 7 o

a)i°? —i* ,_!-_-_—
15 S 7':7
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i

1)

Using the triangle on the right and the values given, find all the missing
sides and angles. in the following chart. -

Given: 8 £ a b c

a) 45° 5% 7 7 70 or 9.9
b) 75° 15° i1, 2 3 1P
¢) 30° co’ S SV/3 e 10

2) What are the definitions of the following trigonometric functions

sin(#) = j’fﬁf s

cos(8) = %}—é{

tan(g) = &

esc(®) =, 2

sec(®) =:"'?ﬂ 4

@) =" wl

(et cff

3) Each of the trig functions given above are abbreviations. What do each of the abbreviations stand for?
Srt’?t/ (o Slewg, “Ifzfl,t,y{n 1“, (oSe Cdn(ij, Se cnzg‘h (o -/%Mf'f""&’

4)

a) Who sines legislation? Cengress

b) Who cosines legislation? j,{’f‘,gg,fb(&? -
¢) Who tans too much?

(Clhress € Presily,g,



